Bllsoming buds schiool
AFFILIATED TO CISCE, NEW DELHI — KA366 (ICSE SYLLABUS)

Class — 11l Subject —Mathematics worksheet Date —27 /12/2022

N

Qnol) Complete the patterns:
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i {Idenfify the number pattern and complete the followings. ]
1. () (=) (=) JC_ JC )
2.} (=s])(==])(==J)J(C _JC JC JC ]
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(4. (o) (s ) (e ) (=) _JC JC
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Qlll) A)
Convert the following to Paise

1. ¥ 10 =

- 475

. X 325

. X 650
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B)

Convert the Paise to Rupees

1. 300 p = <
2.475 p = T
3.830p = T
4. 550 p = X
9.:675p = X
6. 950 p = =




Q 1V) Solve the story sums

1) Mr romk goes to the market to buy sum stationery. He buys notebooks 6, files 8 ,inkbottle and
pencils12.Help the shopkeeper in preparing bill.
notebook X7 Files 23.00 ink bottle X15.50 pencils %4.00

2) Make a bill for the following items
Apples 3 k.g , oranges 6k.g , grapes 3k.g , peach 2k.g and cherry 5k.g
The price list as follows.

Apples %50 , oranges %30, grapes 15 , peach 325 and cherry 340

Q V) Write in columns and add

1) 2975 and %6.75

2) ¥34.70 and ¥15.20

3) 2567.50 and %55.90
4) 967.35 and 3743.80
5) ¥56 and %289.10

Q VI) Write in columns and subtract

1) 281.75 — ¥58.50
2) %4190 —%10,75
3) 285.50 — %66.25
4) %1125 —3457,98
5) %877.50 — 6.25




